FOCus

S

PP1808 | AL

EXPLODED DRAWING

MATERIAL ALUMINGM

WHEELSIZE 275 MAX. 25"/ 63MM

TRAVEL FRONT 170MM/ REAR 170MM

FORK 275" LENGTH 562MM RAKE 42MM

SHOCK LENGTH 230MM / STROKE 65MM, HARDWARE 25 X 8MM
HEADSET UPPER 7S 44, LOWER 15 56

BOTTOM BRACKET

SEATPOST/SEATCLAMP 0 31,6MM /0 34,9MM, MINIMUM INSERT: 100MM
BRAKEMOUNT POSTMOUNT 180MM, MAX ROTOR: 203MM

REAR AXLE WIDTH 148MM /8 12MM

ENGINE SHIMANO E8000

BATTERY FOCUS INTEGRATED

MAX SYSTEM WEIGHT 12066

POS  PART# PART NAME ary
0 KD39I7010 HANGER 1
0 KON MAXLE NUT 1
03 KD3Z5916001 MAXLE NUT KEEPER 1
TR %”NTENT HANGER SCREW [DIN 912 M4 X 16) i
B KDIG0218036 THRU AXLE 12X 148MM, i
06 KD330019039 PIVOT SET 1
07 KD330019040 LINKAGE SET 1
08 KD330019041 BEARING SET 1
09 KD325917057 INTERNAL BATTERY FIX BOLT M12 2
10 K0325917088 INTERNAL BATTERY FIX BOLT WASHER 2
W Ko3zE917089 INTERNAL BATTERY FIX RAIL 1
12 NORM PART SCREW M8 X20 (MOTOR MOUNT) 6
13 NORM PART SCREW M5X 12 (SKID PLATE MOUNT) §
16 NORM PART SCREW M3X12 7
15 KDaZs9170% AIR & CABLE INTAKE LEFT 1
16 KD3s917056 AIR & CABLE INTAKE RIGHT !
17 KDa2s918204 CHAINSTAY PROTECTOR !
18 Koazs9170s1 SKID PLATE 1
19 KDI70817063 ON/ OFF BUTTON HOLDER 1
0 KOs SPEEDMAGNET 1
7 KoIzEI0s BRAKE CABLE PROTECTION TUBE PVC 6X7 X150 ?

-
FOoOCUs



